Math 5C Test 3 Spring 2024

Follow Instructions given on Canvas.

(1) Evaluate
$$\int_{1}^{ft} \int_{0}^{\sqrt{x}} x \, dy \, dx$$

= $\int_{1}^{4} \left[x \, y \right]_{0}^{\sqrt{x}} dx = \int_{1}^{4} x \sqrt{x} \, dx$
= $\int_{1}^{4} \left[x^{3/2} dx \right]_{0}^{\sqrt{x}} dx = \int_{1}^{4} \left[x^{3/2} dx \right]_{0}^{\sqrt{x}} dx$
= $\int_{1}^{4} \left[x^{3/2} dx \right]_{0}^{\sqrt{x}} dx = \int_{1}^{4} \left[x^{3/2} dx \right]_{0}^{\sqrt{x}} dx$
= $\int_{1}^{4} \left[x^{3/2} dx \right]_{0}^{\sqrt{x}} dx = \int_{1}^{4} \left[x^{3/2} dx \right]_{0}^{\sqrt{x}} dx$
= $\int_{1}^{4} \left[x^{3/2} dx \right]_{0}^{\sqrt{x}} dx = \int_{1}^{4} \left[x^{3/2} dx \right]_{0}^{\sqrt{x}} dx$
= $\int_{1}^{4} \left[x^{3/2} dx \right]_{0}^{\sqrt{x}} dx$
= \int_{1}

(2) The integral $\iint_{R} (8-2x-2y) dA$ where R=[0,1]X[0,2] can be used to find the volume of a solid. Sketch the solid, showing scale. (5 points) Find f at corners of domain f(3,y) = 8 - 2x - 2yFind f at corners of domain f(3,0) = 8 f(4,0) = 6 f(5,0) = 6 f(5,0) = 6 f(1,2) = 2See [5.] video # 2, and I5.] Hw problems 35, 37



(5)
$$\int_{C} yz \cos x \, ds \text{ where } C \text{ is given by } x=t, y=2 \cos t, z=2 \sin t, (10 \text{ points})$$

$$\vec{r}(t) = (t, 2 \cos t, 2 \sin t, 2)$$

$$\vec{r}'(t) = (t, -2 \sin t, 2 \cos t)$$

$$ds = \|\vec{r}'(t)\|dt = \sqrt{t + 4 \sin^2 t + 4 \cos^2 t} dt$$

$$\sqrt{t + 4 \sin^2 t + 4 \cos^2 t} dt$$

$$\sqrt{t + 4 \sin^2 t + 4 \cos^2 t} dt$$

50
$$\int_{c}^{yz\cos x\,ds=\sqrt{5}} \sqrt{2}\cos x\,ds=\sqrt{5} \int_{c}^{\pi}\cos^{2}t\sin t\,dt \quad u=\cos t$$

$$4^{r}5\int_{c}^{\pi}\cos^{2}t\sin t\,dt \quad u=\cosh t\,d(t-1)$$

$$-4^{r}5\int_{c}^{-1}u^{2}du$$

$$-4^{r}5\int_{c}^{-1}u^{2}du$$

$$\frac{8^{r}5}{3}$$



$$dS = \sqrt{g_{\chi^{2}} + g_{\chi^{2}+1}^{2}} dA = \sqrt{\frac{x^{2}}{x^{2} + z^{2}}} + \frac{z^{2}}{x^{2} + z^{2}} + 1 dA$$
$$= \sqrt{\frac{x^{2} + z^{2}}{x^{2} + z^{2}}} dA = \sqrt{z} dA$$

$$\iint_{S} y \, dS = \iint_{O} \sqrt{x^2 r^2} \sqrt{z} \, dA$$

$$= \iint_{O} \int_{O}^{A} r \sqrt{z} r \, dr \, d\Theta$$

$$= \sqrt{z} \int_{O}^{2\pi} \int_{O}^{A} r^2 \, dr \, d\Theta = \frac{r_2}{3} \int_{O}^{2\pi} r^3 \int_{O}^{A} \, d\sigma$$

$$= \frac{\sqrt{z}}{3} \cdot 64 \int_{O}^{2\pi} d\Theta = \frac{r_2}{3} \cdot 64 \cdot 2\pi = \frac{r_2}{3} \cdot 64$$







$$V = \iiint d V$$

$$= \iiint d x d z d y$$

$$= \iint d x d z d y$$

$$= \iint (2 - 2) d z d y$$

$$\int (-1) (2 - 2) d z d y$$

$$\int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$\int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$\int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$\int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$(even)$$

$$\int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$\int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$\int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$\int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$\int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$\int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$\int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$\int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$\int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$\int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$\int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$\int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$\int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$\int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$\int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$\int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$\int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$\int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$\int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$\int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$\int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$\int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$\int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$\int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$\int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$\int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$\int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$\int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$\int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$\int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$= \int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$= \int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$= \int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$= \int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$= \int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$= \int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$= \int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$= \int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$= \int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$= \int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$= \int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$= \int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$= \int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$= \int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$= \int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$= \int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$= \int (-1) (2 - 2) (1 - y^{2})^{2} d y$$

$$= \int (-1) (2 - 2) (1$$